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Note : This paper is of forty (40) marks containing three

(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvs—d

(Long Answer Type Questions) / (€T IR T%)

Note : Section ‘A’ contains four (04) long answer type

questions of nine and half (9%) marks each.

Learners are required to answer two (02) questions
only.
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What is Polyploidy ? Distinguish  between
autopolyploidy and allopolyploidy with examples.
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Describe the different stages of mitosis cell division
with suitable diagrams and discuss its significance.
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What do you understand by plant breeding ? Discuss
briefly the various methods of plant breeding.
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Write short notes on any two of the following :

(i) Genetic code

(i) Operon model

(iii) Chromosomes

(iv) Cell wall
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :

questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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What do you understand by cytoplasmic inheritance ?

FIRGIET FUNTT I JAIHT R AT 2 2

Describe spontaneous mutation and induced mutation.

Wl SR vd IRT ScRad T g IR |

What do you understand by interaction of genes ?
Explain.

S i fRae & B § eS|

What is Nucleosome ? Explain the nucleosome model.
e T ¥ ? ferEm dred B wHEE |
What do you understand by Nonsence Codon ?

fRef® yae & oy gar awed € ?

What is hybridization ? Explain.

BRI T 2 ? TS |

What do you understand by Hybrid vigour or Heterosis ?
Explain.
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8. What do you understand by Green Revolution ?

Explain.
eRA Hifa § o9 w7 e € ? wHEed |
Section-C / ¥Uvs—1T
(Objective Type Questions) / (@S J)

Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions of
this Section are compulsory.
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Fill in the blanks :

R =l @l q:ﬁ DI

1. The father of Green Revolution is ............... :
gRa wifd & o+d & |

2. Number of chromosomes in monosomics is ............. .
AT § B @) e A g

3. The term ‘Chromosome’ as coined by ..............
R A & g e

4. Centromere is found in ............... :
USRI ST e |

5. Plasmidsare ............
e g
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Indicate whether the following statements are True or False :

3 Iy f f=forRad wom 9 € a1 3
6. Central Potato Research Institute is situated at Simla.
Bl AT I v e # Rerd 2

7. NBRI is located at Lucknow.
T, &), 3R, TS, @S | Red 2

8. Sonalika is a variety of wheat.

AR T B v geh 2
9. Longest phase during mitosis is Anaphase.
ARG fTor # et ol STaRerT T |
10. Number of membranes in Peroxysome is two.
RaATRIEE H fifeerdl @ war &1 gl & |
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